H & 0l & AHS B Ml A

SA: SAIRARD
Ha: CAIFSHAS
CHol: TAIFE

SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS2
A EAIE 1,493,265 1,546,272 A53,007
Jl 535,000 538,000 A3,000
Al 958,265 1,008,272 /50,007
CAIEEAS 23,460 28,460 /5,000
CAEE 23,460 28,460 /5,000
CAIME 2t 23,460 28,460 /5,000
202 04| 21,460 26,460 /5,000
01 SLHo4HI 21,460 26,460 /5,000
OZAIESAIG D HARFE 04 20,060 25,060 A5,000
ARIEISH FALAE 1,376,125 1,386,332 10,207
Jl 535,000 538,000 A3,000
Al 841,125 848,332 NT,207
WESPNFal=Er 1,376,125 1,386,332 /10,207
Jl 535,000 538,000 A3,000
Al 841,125 848,332 NT,207
SEARIEFA 12,125 12,832 AT07
201 er=3| 12,125 12,832 AT07
01 At2t2lt] 12,125 12,832 AT07
OdIIIHBL LAIFIE =R AIE= 12,125 12,832 AT07
HEX SIS 1,364,000 1,373,500 29,500
Jl 535,000 538,000 A3,000
Al 829,000 835,500 26,500
403 MR HHMSAHE01H 1,364,000 1,373,500 /9,500
) 535,000 538,000 A3,000
Al 829,000 835,500 26,500
02 S7I2S0 e H=E 2 E AL 1,364,000 1,373,500 29,500
OSAAL AIEAL =8 B H XIS2tAE
(Del=e) 1,364,000 1,373,500 29,500
7l 535,000 538,000 /3,000
Al 829,000 835,500 26,500
ANAEEH F& 4,000 28,000 224,000
o sgeEsHA =8 4,000 28,000 A\24,000
Y =sgEsHA 2= 4,000 28,000 A\24,000
201 fer= 3| 0 2,000 /2,000
01 AtR2t2|HI 0 2,000 22,000
OKTX2I &t Z o setetsHldl AEAE
A=2ag 0 2,000 22,000
401 AlEHIZL S0 22,000 22,000
01 Al&H| 22,000 22,000
OKTXSIAPS SAITHABIAIXI T ARRIHIZ 2
9 0 22,000 A22,000
g =a 61,500 74,600 A13,100
QIRtEE 61,500 74,600 213,100
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